NEW MULTISPIRAL - NO SKIVE




// DUNLOP HIFLEX A ALFAGOMMRMGROUP

DUNLOP HIFLEX I

REV.0.0

NEW MULTISPIRAL FITTINGS - NO SKIVE

The new fittings range is a no-skive solution for high pressure spiral hose available in two pieces
solution.

MAIN FEATURES

/' No-skive

/I Range: from 3/8” to 2”

/I Working pressures: up to 6000 psi (420 bar)

/' Main applications: construction equipment, agricultural machines, mining

// Suitable for: aftermarket and maintenance activities, on-site repairs especially

ADVANTAGES

/' H18, two pieces No Skive, only one Ferrule suitable for both 4 spiral and 6 spiral hose -
warehouse optimization

/' No need of skiving equipment, no odor and dust (consequence of the hose cover removal)

// HOW TO SELECT THE RIGHT CODE

TWO PIECES NO SKIVE

It’s easy to recognize the new product codes
from the old ones: the third alphabetical number
just switch from 3 (old one) to 8 (new one).

H{1843310-161600

Item Code Product Code

MULTISPIRAL 1226224 H1343310-161600

H{1 8243310-161600

O3 MULTISPIRAL 1255817 H1843310-161600

www.dunlophiflex.com



A ALFAGOMMRMGROUP // DUNLOP HIFLEX

REV.0.0

// FERRULE SELECTION CHART

// NO SKIVE FERRULE FOR MULTISPIRAL FITTINGS

Hose DN 12 DN 16 DN 19 DN 25

-08 -10 -12 -16
5/8” 3/4” 1?

1/2”

POWERFLEXBIO 4000

POWERFLEXBIO 5000 - 4S

POWERFLEXBIO 5000 - 6S

POWERFLEXBIO 5000 PLUS

DUNLOP HIFLEX I

POWERFLEXBIO 6000 - 4S

POWERFLEXBIO 6000 - 6S

POWERFLEXBIO EXTRA 4000

POWERFLEXBIO EXTRA 5000

POWERFLEXBIO EXTRA 5000 PLUS

POWERFLEXBIO EXTRA 6000

O>DUNLOPHIFLEX 3



// MULTISPIRAL FITTINGS - TWO PIECES - NO SKIVE

/I FERRULES 5 /I NPTF INSERTS 13
/I BSP INSERTS 6 /I ORFS INSERTS 14
/I DIN METRIC INSERTS 8 /I SAE FLANGES 16
/I JIC 37° INSERTS 10 /I SUPERCAT FLANGES 19

www.dunlophiflex.com



A ALFAGOMMRMGROUP // FERRULES

REV.0.0

// FERRULES

// H1800NSS LT [ Lo

Multispiral No-Skive Ferrule

Product Code (Dla[;h) Fer(rmul:‘)OD
1255743 H1800NSS-060000 6 10,0 3/8" 29,0 37,0
1255796 H1800NSS-080000 8 13,0 172" 31,0 40,0
1255833 H1800NSS-100000 10 16,0 5/8" 38,0 44,3
1255868 H1800NSS-120000 12 19,0 3/4" 43,0 52,5
1253826 H1800NSS-160000 16 25,0 1" 50,0 63,0
1255880 H1800NSS-200000 20 31,0 11/4" 62,0 73,0
1258472 H1800NSS-240000 24 38,0 11/2" 70,0 78,5
1257089 H1800NSS-320000 32 51,0 2" 85,0 94,0

POWERTRAK EXTRA FITTINGS I

O>DUNLOPHIFLEX 5

Design and dimensions shown may be changed without prior notice



// BSP INSERTS A ALFAGOMMRMGROUP

REV.0.0

// BSP INSERTS

// H1810510 0=

BSPP Male 60° Flare
AGR

Product Code F1 Dash
1258250 H1810510-121200 12 19,0 3/4" 12 3/4-14 38,1 32,0
1258251 H1810510-161600 16 25,0 1" 16 1-11 46,1 41,0
1258548 H1810510-202000 20 32,0 11/4" 20 11/4-11 50,0 50,0
1258336 H1810510-242400 24 38,0 11/2" 24 11/2-11 55,0 55,0
1258410 H1810510-323200 32 51,0 2" 32 2-11 66,7 70,0

// H1820812 LT=7 F_Cj

BSPP Female 60° Cone with O-Ring | m—ﬂ'ﬁ“"’”‘_‘"

DKOR

POWERTRAK EXTRA FITTINGS I

Product Code Nut Type F1 Dash
1259162 H1820811-080800 Crimped 8 13,0 172" 8 1/2-14 19,6 27,0
1259163 H1820811-101000 Crimped 10 16,0 5/8" 10 5/8-14 18,8 27,0
1257104 H1820812-121200 Thrust wire nut 12 19,0 3/4" 12 3/4-14 25,8 32,0
1258306 H1820812-121600 Thrust wire nut 12 19,0 3/4" 16 1-11 28,3 38,0
1257054 H1820812-161600 Thrust wire nut 16 25,0 1" 16 1-11 31,6 38,0
1258338 H1820812-162000 Thrust wire nut 16 25,0 1" 20 11/4-11 34,1 50,0
1258497 H1820812-202000 Thrust wire nut 20 32,0 11/4" 20 11/4-11 33,9 50,0
1258300 H1820812-242400 Thrust wire nut 24 38,0 11/2" 24 11/2-11 37,8 55,0
1258287 H1820812-323200 Thrust wire nut 32 51,0 2" 32 2-11 43,2 70,0
6 j www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMRMGROUP //BSP INSERTS

REV.0.0

/I H1820842 07577

45° BSPP Female 60° Cone with O-Ring
DKOR 45
Solid one piece

|
Product Code Nut Type ) F1 Dash
1259198 H1820841-080800 Crimped 8 13,0 172" 8 1/2-14 53,0 21,0 27,0
1259170 H1820841-101000 Crimped 10 16,0 5/8" 10 5/8-14 61,0 21,5 27,0
1258249 H1820842-121200 Thrust wire nut 12 19,0 3/4" 12 3/4-14 76,0 30,0 32,0
1258275 H1820842-161600 Thrust wire nut 16 25,0 1" 16 1-11 92,0 40,0 38,0
1258506 H1820842-202000 Thrust wire nut 20 32,0 11/4" 20 11/4-11 90,0 40,0 50,0
1258407 H1820842-242400 Thrust wire nut 24 38,0 11/2" 24 11/2-11 116,0 46,0 55,0
1258595 H1820842-323200 Thrust wire nut 32 51,0 2" 32 2-11 153,0 60,0 70,0
90° BSPP Female 60° Cone with O-Ring
DKOR 90
Solid one piece
Item [»] [»] [»] C D Drop CH1
Code Product Code Nut Type ) (mm) (in) F1 Dash F1 ) ) s
1259199 H1820891-080800 Crimped 8 13,0 1/2" 8 1/2-14 37,0 41,0 27,0
1259172 H1820891-101000 Crimped 10 16,0 5/8" 10 5/8-14 48,0 47,0 27,0
1258248 H1820892-121200 Thrust wire nut 12 19,0 3/4" 12 3/4-14 60,0 61,0 32,0
1258408 H1820892-121600 Thrust wire nut 12 19,0 3/4" 16 1-11 69,0 68,0 38,0
1258267 H1820892-161600 Thrust wire nut 16 25,0 1" 16 1-11 74,0 71,0 38,0
1258505 H1820892-202000 Thrust wire nut 20 32,0 11/4" 20 11/4-11 83,0 83,0 50,0
1258376 H1820892-242400 Thrust wire nut 24 38,0 11/2" 24 11/2-11 100,0 96,0 55,0
1258426 H1820892-323200 Thrust wire nut 32 51,0 2" 32 2-1 140,0 130,0 70,0
Image: insert with Slip on Nut.

Design and dimensions shown may be changed without prior notice

POWERTRAK EXTRA FITTINGS I

7



/I DIN METRIC INSERTS A ALFAGOMMRAGROUP

POWERTRAK EXTRA FITTINGS I

REV.0.0

// DIN METRIC INSERTS

// H1811210 0I=17

Metric Male 24° Seat
DIN 3853 - Heavy Series
CES

Product Code
1257032 H1811210-123600 12 19,0 3/4" M36X2 25 30,0 36,0
1257041 H1811210-164200 16 25,0 1" M42X2 30 411 46,0
1257093 H1811210-205200 20 32,0 11/4" M52X2 38 49,9 55,0

// H1821613 LTE17 [
Metric Female 24° Cone with O-Ring E_A-r

ISO 8434-1 - Heavy Series

| | . .
DKOS :'O_DT% e

[ CH1
Product Code Nut Type
1259271 H1821612-082400 Thrust wire nut 8 13,0 172" M24X1.5 16 27,3 30,0
1259301 H1821613-103000 Slip on nut 10 16,0 5/8" M30X2 20 37,2 36,0
1257103 H1821612-123000 Thrust wire nut 12 19,0 3/4" M30X2 20 37,4 36,0
1257094 H1821613-123600 Slip on nut 12 19,0 3/4" M36X2 25 41,7 46,0
1257051 H1821612-163600 Thrust wire nut 16 25,0 1" M36X2 25 46,6 46,0
1257055 H1821613-164200 Slip on nut 16 25,0 1" M42X2 30 45,8 50,0
1258543 H1821612-204200 Thrust wire nut 20 32,0 11/4" M42X2 30 50,0 50,0
1255917 H1821613-205200 Slip on nut 20 32,0 11/4" M52X2 38 50,0 60,0
1258302 H1821612-245200 Thrust wire nut 24 38,0 11/2" M52X2 38 57,0 60,0

Image: insert with Slip on Nut.

www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMRGROUP /I DIN METRIC INSERTS

REV.0.0

/I H1821643 LI57 ¢ "|

45° Metric Female 24° Cone with O-Ring e pepp—
ISO 8434-1 - Heavy Series W ”[t
DKOS 45 v !
. . A
Solid one piece >
*. .CH1
Product Code & D Drop Sl
(mm) (mm)
1259275 H1821642-082400 Thrust wire nut 8 13,0 172" M24X1.5 16 66,7 33,0 30,0
1259304 H1821643-103000 Slip on nut 10 16,0 5/8" M30X2 20 66,0 30,0 36,0
1258305 H1821642-123000 Thrust wire nut 12 19,0 3/4" M30X2 20 74,0 33,0 36,0
1257064 H1821643-123600 Slip on nut 12 19,0 3/4" M36X2 25 71,0 33,0 46,0
1258315 H1821642-163600 Thrust wire nut 16 25,0 1" M36X2 25 94,0 37,5 46,0
1257048 H1821643-164200 Slip on nut 16 25,0 1" M42X2 30 110,0 8515 50,0
1255919 H1821643-205200 Slip on nut 20 32,0 11/4" M52X2 38 111,0 45,0 60,0

90° Metric Female 24° Cone with O-Ring
ISO 8434-1 - Heavy Series

DKOS 90

Solid one piece

POWERTRAK EXTRA FITTINGS I

Product Code Nut Type (Dash)
1259273 H1821692-082400 Thrust wire nut 8 13,0 1/2" M24X1.5 16 48,5 59,0 30,0
1259305 H1821693-103000 Slip on nut 10 16,0 5/8" M30X2 20 48,0 55,0 36,0
1258253 H1821692-123000 Thrust wire nut 12 19,0 3/4" M30X2 20 66,1 67,5 36,0
1257067 H1821693-123600 Slip on nut 12 19,0 3/4" M36X2 25 51,0 59,5 46,0
1258331 H1821697-123600 Slip on nut 12 19,0 3/4" M36X2 25 51,0 59,5 41,0
1257060 H1821692-163600 Thrust wire nut 16 25,0 1" M36X2 25 76,0 82,0 46,0
1257045 H1821693-164200 Slip on nut 16 25,0 1" M42X2 30 85,0 70,0 50,0
1258503 H1821693-205200 Slip on nut 20 32,0 11/4" M52X2 38 95,0 92,0 60,0
1258334 H1821692-245200 Thrust wire nut 24 38,0 11/2" M52X2 38 105,0 95,0 60,0

Image: insert with Slip on Nut.

O>DUNLOPHIFLEX 9

Design and dimensions shown may be changed without prior notice



/1 JIC 37° INSERTS A ALFAGOMMRGROUP

POWERTRAK EXTRA FITTINGS I

REV.0.0

// JIG 37° INSERTS

// H1812510 0=27 "70—"*

|
JIC Male 37° Cone r‘W—ﬂwww-—-
Fi - |4 ‘

AGJ
W S S S 0 Sl
lon

ggg; Product Code (D'aDsh) (n':n) ('i'z) F1 Dash F1 (mcm) (ﬁ:;")
1255939 | H1812510-060600 6 10,0 3/8" 6 9/16-18 27,0 17,0
1255965 | H1812510-080800 8 13,0 1/2" 8 3/4-16 30,6 19,0
1255988 | H1812510-101000 10 16,0 5/8" 10 7/8-14 353 24,0
1256038 | H1812510-121200 12 19,0 3/4" 12 111612 391 27,0
1255826 H1812510-161600 16 25,0 1" 16 15/16-12 46,1 36,0
1257092 H1812510-202000 20 32,0 11/4" 20 15/8-12 50,4 46,0
1258509 | H1812510-242400 24 38,0 11720 24 17/8-12 56,5 50,0

/I H1822512 07577

JIC Female 37° Seat
DKJ

Product Code Nut Type F1 Dash
1258632 H1822511-060600 Crimped 6 10,0 3/8" 6 9/16-18 16,0 19,0
1258633 H1822511-080800 Crimped 8 13,0 172" 8 3/4-16 18,6 25,0
1258634 H1822511-101000 Crimped 10 16,0 5/8" 10 7/8-14 20,3 27,0
1258252 H1822512-121200 Thrust wire nut 12 19,0 3/4" 12 11/16-12 22,8 32,0
1258307 H1822512-121600 Thrust wire nut 12 19,0 3/4" 16 15/16-12 24,6 38,0
1258265 H1822512-161600 Thrust wire nut 16 25,0 1" 16 15/16-12 18,5 38,0
1258328 H1822512-162000 Thrust wire nut 16 25,0 1" 20 15/8-12 29,2 50,0
1258498 H1822512-202000 Thrust wire nut 20 32,0 11/4" 20 15/8-12 30,0 50,0
1258507 H1822512-202400 Thrust wire nut 20 32,0 11/4" 24 17/8-12 34,0 55,0
1258332 H1822512-242400 Thrust wire nut 24 38,0 11/2" 24 17/8-12 23,5 55,0

Image: insert with Thrust Wire Nut.

www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMRAGROUP /1 JIC 37° INSERTS

REV.0.0

/I H1826511 07517

_"'—Cj
JIC Female 37° Seat with Stem Hexagon F"-rmm
1 . _

DKJ ]F B
Ay o |
i
T CH
L CH1
Product Code Nut Type o F1 Dash
yp (Dash)
1255950 H1826511-060600 Crimped 6 10,0 3/8" 6 9/16-18 22,0 17,0 19,0
1255967 H1826511-080800 Crimped 8 13,0 1/2" 8 3/4-16 25,6 19,0 25,0
1255990 H1826511-101000 Crimped 10 16,0 5/8" 10 7/8-14 28,3 24,0 27,0
1256041 H1826511-121200 Crimped 12 19,0 3/4" 12 11/16-12 30,1 27,0 32,0
1255808 H1826512-161600 Thrust wire nut 16 25,0 1" 16 15/16-12 38,6 36,0 38,0
1255810 H1826512-162000 Thrust wire nut 16 25,0 1" 20 15/8-12 41,2 41,0 50,0
1255909 H1826512-202000 Thrust wire nut 20 32,0 11/4" 20 15/8-12 43,0 46,0 50,0
1257202 H1826512-242400 Thrust wire nut 24 38,0 11/2" 24 17/8-12 48,4 50,0 55,0
1257200 H1826512-323200 Thrust wire nut 32 51,0 2" 32 21/2-12 59,2 65,0 70,0

Image: insert with Crimped Nut.

/I H1822541 L1517

45° JIC Female 37° Seat
Medium Drop

DKJ 45M

Solid one piece

POWERTRAK EXTRA FITTINGS I

Product Code F1 Dash
1255928 H1822541-040400 Crimped 4 6,0 1/4" 4 7/16-20 38,0 15,5 16,0
1255956 H1822541-060600 Crimped 6 10,0 3/8" 6 9/16-18 50,0 17,5 19,0
1255969 H1822541-080800 Crimped 8 13,0 1/2" 8 3/4-16 52,0 20,0 25,0
1256026 H1822541-101000 Crimped 10 16,0 5/8" 10 7/8-14 57,0 29,0 27,0
1256047 H1822542-121200 Thrust wire nut 12 19,0 3/4" 12 11/16-12 70,0 27,5 32,0
1258345 H1822542-121600 Thrust wire nut 12 19,0 3/4" 16 15/16-12 69,0 33,5 38,0
1255873 H1822542-161600 Thrust wire nut 16 25,0 1" 16 15/16-12 85,0 31,0 38,0
1257075 H1822542-202000 Thrust wire nut 20 32,0 11/4" 20 15/8-12 98,0 37,0 50,0
1258438 H1822542-242400 Thrust wire nut 24 38,0 11/2" 24 17/8-12 118,0 43,5 55,0

Image: insert with Thrust Wire Nut.

O DUNLOPHIFLEX 1

Design and dimensions shown may be changed without prior notice



/1 JIC 37° INSERTS A ALFAGOMMRGROUP

REV.0.0

/I H1822591 057

90° JIC Female 37° Seat
Medium Drop

DKJ 90M

Solid one piece

Product Code (mcm) I:)(II::—:)p ol
1255958 H1822591-060600 Crimped 6 10,0 3/8" 6 9/16-18 32,0 35,0 19,0
1255971 H1822591-080800 Crimped 8 13,0 1/2" 8 3/4-16 36,0 40,0 25,0
1256024 H1822591-101000 Crimped 10 16,0 5/8" 10 7/8-14 46,0 52,0 27,0
1258264 H1822592-121200 Thrust wire nut 12 19,0 3/4" 12 11/16-12 60,0 57,0 32,0
1258342 H1822592-121600 Thrust wire nut 12 19,0 3/4" 16 15/16-12 58,0 63,5 38,0
1255867 H1822592-161600 Thrust wire nut 16 25,0 1" 16 15/16-12 76,0 67,0 38,0
1257204 H1822592-20200M Thrust wire nut 20 32,0 11/4" 20 15/8-12 84,0 78,0 50,0
1257207 H1822592-242400 Thrust wire nut 24 38,0 11/2" 24 17/8-12 104,0 92,0 55,0

Image: insert with Thrust Wire Nut.

POWERTRAK EXTRA FITTINGS I

12 | www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMRMGROUP //NPTF INSERTS

REV.0.0

// NPTF INSERTS

// H1812810 0757 ch
&

NPTF Male 60° Seat
AGN

Product Code F1 Dash
1257080 H1812810-121200 12 19,0 3/4" 12 3/4-14 36,1 27,0
1255828 H1812810-161600 16 25,0 1" 16 1-11 1/2 471 36,0
1257086 H1812810-202000 20 32,0 11/4" 20 11/4-111/2 50,9 46,0
1257183 H1812810-242400 24 38,0 11/2" 24 11/2-11 1/2 54,5 50,0
1257185 H1812810-323200 32 51,0 2" 32 2-111/2 63,4 65,0

POWERTRAK EXTRA FITTINGS I

O>DUNLOPHIFLEX 13

Design and dimensions shown may be changed without prior notice



// ORFS INSERTS A ALFAGOMMRMGROUP

REV.0.0

// ORFS INSERTS

/ 11812410 0517 hcj

ORFS Male F m.rmw._
F1
, S

ID

Product Code (Dash) F1 Dash
1255954 H1812410-060600 6 10,0 3/8" 6 11/16-16 25,0 19,0
1255975 H1812410-080800 8 13,0 1/2" 8 13/16-16 271 22,0
1256029 H1812410-101000 10 16,0 5/8" 10 1-14 31,3 27,0
1256049 H1812410-121200 12 19,0 3/4" 12 13/16-12 36,1 32,0
1257070 H1812410-161600 16 25,0 1" 16 17/16-12 40,6 38,0
1257090 H1812410-202000 20 32,0 11/4" 20 111/16-12 43,4 46,0

// H1822411 G5 FC—"‘
ORFS Female with Stem Hexagon @k ]q- e

POWERTRAK EXTRA FITTINGS I

Product Code Nut Type / F1 Dash

(Dash)
1255952 | H1822411-060600 Crimped 6 10,0 3/8" 6 11/16-16 31,0 17,0 22,0
1255982 | H1822411-080800 Crimped 8 13,0 1/2" 8 13/16-16 36,1 22,0 24,0
1256031 H1822411-101000 Crimped 10 16,0 5/8" 10 1-14 40,3 24,0 30,0
1256053 | H1822411-121200 Crimped 12 19,0 3/4" 12 13/16-12 44,1 30,0 36,0
1256932 H1822411-121600 Crimped 12 19,0 3/4" 16 17/16-12 50,1 36,0 41,0
1255812 |  H1822411-161600 Crimped 16 25,0 1" 16 17/16-12 53,1 36,0 41,0
1255814 | H1822411-162000 Crimped 16 25,0 1" 20 111/16-12 54,1 41,0 50,0
1255911 | H1822411-202000 Crimped 20 32,0 11/4" 20 111/16-12 | 56,0 46,0 50,0
1256933 H1822411-242400 Crimped 24 38,0 11/2" 24 2-12 61,5 50,0 60,0
14 3 www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMRMGROUP // ORFS INSERTS

REV.0.0

/I H1822441 LI517

45° ORFS Female
Medium Drop
DK ORFS 45M
Solid one piece

Product Code Nut Type F1 Dash
1255963 H1822443-060600 Slip on nut 6 10,0 3/8" 6 11/16-16 48,0 17,0 22,0
1255986 H1822441-080800 Crimped 8 13,0 1/2" 8 13/16-16 54,0 22,0 24,0
1256036 H1822441-101000 Crimped 10 16,0 5/8" 10 1-14 58,0 17,0 30,0
1256059 H1822443-121200 Slip on nut 12 19,0 3/4" 12 13/16-12 67,0 21,0 36,0
1257078 H1822441-121200 Crimped 12 19,0 3/4" 12 13/16-12 82,0 26,0 36,0
1258416 H1822441-121600 Crimped 12 19,0 3/4" 16 17/16-12 81,0 28,0 41,0
1255837 H1822441-161600 Crimped 16 25,0 1" 16 17/16-12 95,0 28,0 41,0
1258440 H1822441-162000 Crimped 16 25,0 1" 20 111/16-12 88,0 28,0 50,0
1255915 H1822441-202000 Crimped 20 32,0 11/4" 20 111/16-12 108,0 36,5 50,0

Image: insert with Crimped Nut.

/I H1822491 01517

POWERTRAK EXTRA FITTINGS I

90° ORFS Female

Medium Drop

DK ORFS 90M

Solid one piece CH1
Item ID ID ID
Code Product Code Nut Type ) (mm) (in) F1 Dash F1 (mm) (mm) (mm)
1255960 H1822493-060600 Slip on nut 6 10,0 3/8" 6 11/16-16 43,0 38,0 22,0
1255984 H1822491-080800 Crimped 8 13,0 1/2" 8 13/16-16 35,0 42,0 24,0
1256034 H1822491-101000 Slip on nut 10 16,0 5/8" 10 1-14 56,0 44,0 30,0
1256055 H1822493-121200 Slip on nut 12 19,0 3/4" 12 13/16-12 63,0 58,0 36,0
1257077 H1822491-121200 Crimped 12 19,0 3/4" 12 13/16-12 68,0 58,0 36,0
1258325 H1822491-121600 Crimped 12 19,0 3/4" 16 17/16-12 70,0 58,0 36,0
1255835 H1822491-161600 Crimped 16 25,0 1" 16 17/16-12 80,0 66,0 41,0
1255913 H1822491-202000 Crimped 20 32,0 11/4" 20 111/16-12 101,0 81,0 50,0

Image: insert with Crimped Nut.

O>DUNLOPHIFLEX 15

Design and dimensions shown may be changed without prior notice



// SAE FLANGES A ALFAGOMMRMGROUP

POWERTRAK EXTRA FITTINGS I

REV.0.0

// SAE FLANGES

// H1843310 0757 F*C
Flange SAE 3000 psi J518 Code 61 r F'h_r

Product Code (DIaDsh) F1 Dash
1256975 H1843310-121200 12 19,0 3/4" 12 3/4 38,1 39,5 5000
1255817 H1843310-161600 16 25,0 1" 16 1 44,5 541 5000
1255819 H1843310-162000 16 25,0 1" 20 11/4 50,8 56,6 5000
1255886 H1843310-202000 20 32,0 11/4" 20 11/4 50,8 5745 3000
1258560 H1843310-202400 20 32,0 11/4" 24 11/2 60,3 60,4 5000
1258432 H1843310-242000 24 38,0 11/2" 20 11/4 50,8 54,5 5000
1256999 H1843310-242400 24 38,0 11/2" 24 11/2 60,3 62,5 5000
1258422 H1843310-243200 24 38,0 11/2" 32 2 71,4 62,5 5000
1258299 H1843310-323200 32 50,0 2" 32 2 71,4 79,2 3000
// H1843340 01517 I © "

45° Flange SAE 3000 psi J518 Code 61

SFL 45 .
Solid one piece <\ % ‘

ID

Product Code (Dash) F1 Dash
1258340 H1843340-162000 16 25,0 1" 20 11/4 50,8 99,0 32,5 3000
1255892 H1843340-202000 20 32,0 11/4" 20 11/4 50,8 103,0 38,5 5000
1257023 H1843340-202400 20 32,0 11/4" 24 11/2 60,3 99,0 40,0 3000
1257002 H1843340-242400 24 38,0 11/2" 24 11/2 60,3 111,0 43,0 3000
1258414 H1843340-323200 32 50,0 2" 32 2 71,4 154,0 54,0 5000

www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMRMGROUP // SAE FLANGES

REV.0.0

// H1843390 07577

90° Flange SAE 3000 psi J518 Code 61
SFL 90
Solid one piece

POWERTRAK EXTRA FITTINGS I

Product Code (DIaDsh) (mcm) D(nl';\::)p

1255849 H1843390-161600 16 25,0 1" 16 1 44,5 79,0 64,0 5000
1257007 H1843390-162000 16 25,0 1" 20 11/4 50,8 75,0 69,0 3000
1255890 H1843390-202000 20 32,0 11/4" 20 11/4 50,8 91,0 81,0 5000
1258622 H1843390-202400 20 32,0 11/4" 24 1172 60,3 87,0 85,0 5000
1257000 H1843390-242400 24 38,0 11/72" 24 1172 60,3 103,0 93,0 3000
1258385 H1843390-323200 32 50,0 2" 32 2 71,4 139,0 130,0 5000

// H1843610 L7517 “ ¢ "

FI H ‘_- o
ange SAE 6000 psi J518 Code 62 | n—,_r.

SFS [SpH 4

i
Product Code o F1 Dash
(Dash)

1259205 H1843610-080800 8 13,0 172" 8 12 31,8 43,6 6000
1250893 H1843610-121200 12 19,0 3/4" 12 3/4 41,3 53,1 6000
1256988 H1843610-121600 12 19,0 3/4" 16 1 47,6 56,5 6000
1255824 H1843610-161200 16 25,0 1" 12 3/4 41,3 59,1 6000
1250885 H1843610-161600 16 25,0 1" 16 1 47,6 59,1 6000
1255821 H1843610-162000 16 25,0 1" 20 11/4 54,0 66,1 6000
1257998 H1843610-162400 16 25,0 1" 24 1172 63,5 711 6000
1255884 H1843610-201600 20 32,0 11/4" 16 1 47,6 60,0 6000
1250350 H1843610-202000 20 32,0 11/4" 20 11/4 54,0 59,0 6000
1257017 H1843610-202400 20 32,0 11/4" 24 1172 63,5 74,0 6000
1257009 H1843610-242000 24 38,0 11/72" 20 11/4 54,0 70,0 6000
1250857 H1843610-242400 24 38,0 11/2" 24 1172 63,5 63,0 6000
1257028 | H1843610-243200 24 38,0 11/2" 32 2 79,4 88,0 6000
1250340 H1843610-323200 32 50,0 2" 32 2 79,4 97,2 6000

O DUNLOPHIFLEX 1T

Design and dimensions shown may be changed without prior notice



// SAE FLANGES A ALFAGOMMRMGROUP

REV.0.0
// H1843640 L5117 C _
45° Flange SAE 6000 psi J518 Code 62 i 1
NW-_
SFS 45 ® D
Solid one piece < !

[o]

Product Code ) F1 Dash
1259211 H1843640-080800 8 13,0 1/2" 8 1/2 31,8 56,0 23,0 6000
1256966 H1843640-121200 12 19,0 3/4" 12 3/4 41,3 75,0 30,0 6000
1256964 H1843640-121600 12 19,0 3/4" 16 1 47,6 81,0 33,0 6000
1257026 H1843640-161200 16 25,0 1" 12 3/4 41,3 77,0 29,5 6000
1255845 H1843640-161600 16 25,0 1" 16 1 47,6 98,0 38,5 6000
1255847 H1843640-162000 16 25,0 1" 20 11/4 54,0 96,0 44,0 6000
1257027 H1843640-201600 20 32,0 11/4" 16 1 47,6 97,0 34,0 6000
1255896 H1843640-202000 20 32,0 11/4" 20 11/4 54,0 102,0 41,0 6000
1257021 H1843640-202400 20 32,0 11/4" 24 11/2 63,5 117,0 48,0 6000
1256962 H1843640-242400 24 38,0 11/2" 24 11/2 63,5 143,0 48,0 6000
1258583 H1843640-323200 32 50,0 2" 32 2 79,4 177,0 61,0 6000
// H1843690 L7517

90° Flange SAE 6000 psi J518 Code 62
SFS 90
Solid one piece

POWERTRAK EXTRA FITTINGS I

Product Code (Dla[:;h) (mcm) D(I:::)p
1256934 | H1843690-121200 12 19,0 3/4" 12 3/4 41,3 65,0 64,0 6000
1256935 | H1843690-121600 12 19,0 3/4" 16 1 47,6 65,0 66,0 6000
1258335 | H1843690-161200 16 25,0 1 12 3/4 41,3 75,0 61,0 6000
1255841 | H1843690-161600 16 25,0 i 16 1 476 75,0 74,0 6000
1256939 | H1843690-162000 16 25,0 1 20 11/4 54,0 79,0 85,0 6000
1255907 | H1843690-201600 20 32,0 11/4" 16 1 476 86,0 72,0 6000
1257011 | H1843690-202000 20 32,0 11/4" 20 11/4 54,0 96,0 91,0 6000
1257016 | H1843690-202400 20 32,0 1 1/4" 24 11/2 63,5 99,0 103,5 6000
1256936 | H1843690-242400 24 38,0 1 1/2" 24 11/2 63,5 114,0 109,0 6000
1257029 | H1843690-323200 32 50,0 Z 32 2 79,4 168,0 134,0 6000
18 www.dunlophiflex.com

Design and dimensions shown may be changed without prior notice



A ALFAGOMMAGROUP // SUPERCAT FLANGES

REV.0.0

// SUPERCAT FLANGES

// H1843910 L1517 F—Cﬂ

Flange SUPERCAT F%_ 4 [V p—

Product Code (Dla[;h)
1256983 H1843910-121200 12 19,0 3/4" 12 3/4 41,3 14,3 85,5
1256984 H1843910-121600 12 19,0 3/4" 16 1 47,6 14,3 87,0
1255830 H1843910-161600 16 25,0 1" 16 1 47,6 14,3 95,1
1255832 H1843910-162000 16 25,0 1" 20 11/4 54,0 14,3 95,1
1255888 H1843910-202000 20 32,0 11/4" 20 11/4 54,0 14,3 91,0
1257018 H1843910-202400 20 32,0 11/4" 24 11/2 63,5 14,3 87,0
// H1843940 07=17 { C—
R

45° Flange SUPERCAT
Solid one piece <

:

ID

Product Code (Dash) F1 Dash
1256996 H1843940-121200 12 19,0 3/4" 12 3/4 41,3 14,3 107,0 33,7
1258113 H1843940-121600 12 19,0 3/4" 16 1 47,6 14,3 112,0 34,0
1255857 H1843940-161600 16 25,0 1" 16 1 47,6 14,3 129,0 42,5
1255859 H1843940-162000 16 25,0 1" 20 11/4 54,0 14,3 128,0 40,0
1257024 H1843940-202000 20 32,0 11/4" 20 11/4 54,0 14,3 149,0 45,0
// H1843990 LT=17 F c—
D e
90° Flange SUPERCAT j
Solid one piece )
v
T A
i—
[»] (o] D Drop
Product Code (Dash) (mm) (mm)
1256994 H1843990-121200 12 19,0 3/4" 12 3/4 41,3 14,3 67,0 67,0
1256995 H1843990-121600 12 19,0 3/4" 16 1 47,6 14,3 69,0 70,0
1255853 H1843990-161600 16 25,0 1" 16 1 47,6 14,3 85,0 79,0
1255855 H1843990-162000 16 25,0 1" 20 11/4 54,0 14,3 80,0 82,5
1255902 H1843990-202000 20 32,0 11/4" 20 11/4 54,0 14,3 96,0 93,0
1257019 H1843990-202400 20 32,0 11/4" 24 11/2 63,5 14,3 97,0 101,0

Design and dimensions shown may be changed without prior notice

POWERTRAK EXTRA FITTINGS I



HEADQUARTER
Alfagomma SpA
Via Torri Bianche 1

20871 Vimercate (MB) Italy
marketing@alfagomma.com
www.alfagomma.com

4 - HO/AG-EN

2

May 20:



